KT 7= NF

MRV3M

(PNVFERWR)

IN="I") K-
PARTS LIST

<>
FAPIEHERNEH



¢ HMICRULT

(1) BREXOBER, FREORKEY - 3—F&HS - BHREH - B 243 HE
| URF 3 a8

(2) FEXEmoBmIEZMNG ZEA,

(3) WiEHRHALT, COMIESRHEBEHFC2T,

(4) BEMCHBREXHPBRBILETOT. FHCEHEXHBO 2T,

(5) URZEZCLIVBDOWMTED, CLhaBEPHY TOTEAFS LI
ADL, EXEOZ T,

®NOTICE (Reques for Customers)

( 1) In placing an order for parts, be sure to specify the index number in this liems and
the number of parts.

( 2 ) Return of ordered goods cannot be accepted.

( 3 ) Be sure to use the standard parts listed herein as repair parts.
Use of other maketed or similar goods often causes a deterioration of performance
and an earlier damage.

(4 ) Since orders for parts rush in during the demand season, earlier order are
recommended.

(5 ) Asin somo cases forms and dimensions may be different owing to remodelling or

modifications, order parts upon notting the model number.



A.

B.

@1 GB181LN—376

i1

S Z2Zwiay 5—2BE&

FSZ2Zwiay FvEFE

N FIVEE &

H

22 NI bHIN—FEF -

BHif- T/ ER

T RmEA R

13

17

19

22






A.

A = Wodh A W oA ifis
A-01 156 3002 000 hFvARIyva Ty 1 A-02,03 &L
A-02 156 0003 000 FNIVARI g T 9V 1 A-1~35
A-03 127 5301 000 HIE—=T v 1 A-36~58
Al 156 0111 000 Tyvari—A R 1
A2 156 0112 000 T s dr—RA L 1
A3 9BT 0801 203 INVIR M8 x 120 1
A-4 9OW 0816 160 | ¥ —/ T wisy 1
A-5 M60 0116 000 Fappale 1
A-6 112 0361 000 FA Ne—2 1.80 1
A7 9BH 0601473 | 7T A b M6 X 140 24
A-8 9NF 0600 033 752y b M6 24
A-9 9BT 0801 603 Aok M8 x 160 3
A-10 9NF 0800 003 75wy bk M8 3
A-11 M403711000 | $ragia Ungsr 1
A-12 9BH 0602 073 | 7T A b M6 x 200 4
A-13 9NF 0600 033 7y b M6 4
A-14 9BH 0805573 | 7T AL b M8 X 550 2
A-15 9NF 0800 003 77w M8 2
A-16 M40 5153 000 ayy g7 E—ay R 1
A-17 M40 5118 000 A G T R—TF—Y 1
A-18 MO07 0313 001 vIZE—my RagsRyXxs 4
A-19 MO07 0314 000 v7E—1y RAIS8% 2
A-20 MO07 0314 010 7 H—my A3k B 2
A-21 9SB 2500 000 AF—iii—) 516" 2
A-22 9ST 0302 003 7R R $3X200 2
A-23 9SW 1000003 | 34 R M10 4
A-24 9NT 1000 013 + v b MI10X%P1.25 4
A-25 M40 0135 000 v7A—my R B 1
A-26 M40 5119 000 UZ—Z4—2 B |
A-27 M40 3313 000 STk 1
A28 90R 1200 001 oV y P-12 1
A-29 M40 5159 001 n—F Y= TR —T 7 1
A-30 M40 5160 000 Ty R 1
A-31 90R 0900 001 ovVrs P-9 1
A-32 9SP 0402 004 AT T p4X200 1
A-33 M40 5121 001 F xR 1
A-34 9ST 0251 203 0l Pl $2.5x120 1
A-35 9FW 0600 003 b 7% 2







A.

P a— NS W o A HE i 5
A-36 127 5311 000 P —ir—% L 1
A-37 127 5312 001 A —ir—A R 1
A-38 M40 3257 000 Y7 TN B 2
A-39 9BH 0601473 | 7T Ak M6 X 140 5
A-40 9NF 0600 003 7y M6 7
A-41 9BK 0802 083 PAFAYFH N M8X 200 3
A-42 9NT 1000 013 T b M10xP1.25 2
A-43 9SW 1000003 | 7 RHH XK M10 2
A-44 M40 3252 000 25— 1
A-45 9SW 0500003 | /SR AR M5 2
A-46 9CR 0500 503 FRaRY M5 X 50 2
A-A7 127 5313 000 AR XY 16 1
A-48 9BB 6003 002 A= XT Y 7 #6003-2RS 1
A-49 9BB 6203 002 R—=N_T Y7 #6203-2RS 1
A-50 9RR 4000 005 At o7V s R40 1
A-51 127 5315 000 FaghPy 1
A-52 127 5316 000 Fah XY 47 1
A-53 9BB 6003 002 R—=17 Y7 #6003-2RS 2
A-54 MO07 0234 002 RPVHET PIYSRyXY b 2
A-55 127 5317 001 Fayh o WHE 2
A-56 127 5318 000 Wa TRy 32 1
A-57 MO7 0813 000 F—Y =i 1
A-58 9BK 0601483 | /SRHY %A/ b MEX 140 1




B. 522 IvarF+TEfk




B.

S ZIwiarFvEafk

RS a— NEE W oS A B D45
B-1 M40 5155 000 aly 1
B-2 N40 5156 000 XPVFATasy b 1
B-3 M40 5157 000 g Jomr Sl 1
B-4 M40 5158 000 Ay XY 1
B-5 M403222000 | Fx=TUF¥ 1
B-6 M13 0216 000 YA KO T o FTTFH 2 1
B-7 MO07 0213 000 T a DR 1
B-8 9RS 2000 005 AFwTYUrd 82 1
B-9 9RR 3500 005 AFw7FV 7 R35 2
B-10 9BB 6003 002 R—T o #6003-2RS 2
B-11 9BB 6202 000 R—_T Y d #6202 1
B-12 9SC 3500 700 Paviie o 1
B-13 M405154000 |2 7%y 1
B-14 M400130000 | Sy o P 1
B-15 M230256000 | ¥¥7wi = 2
B-16 M070217001 | ¥H%x A 5
B-17 MO07 0313 001 V7 H—my FagsRyX 4
B-18 9SW 1000003 | 7+ M10 4
B-19 9NT 1000013 | 7> M10%P1.25 6
B-20 M40 3216 001 Ry ¥¥ 1
B-21 M403215001 | 23w o v 7 1
B-22 M54 0220 000 WA R 1
B-23 9RS 1500 005 AFy LYy S15 1
B-24 9NB 1519 172 =— AT Y KT151917 1
B-25 M23 0259 000 T IXx 1
B-26 M40 0131 000 R e hi
B-27 M23 0224 000 X7 via B 1
B-28 MO07 0234 002 X2VX 7 hawivx Y b 2
B-29 154 0231 000 L S 2
B-30 149 5210 000 N PIXY 1
B-31 149 5211 000 TG F =i 7 b L) 1
B-32 149 5214 000 25 9F T A—F 2
B-33 9TP 0402 203 F »4X220 2
B-34 149 5212 000 25 9F74—2%7 b R) 1
B-35 90R 1200001 |OQ V> P-12 2
B-36 90S 1218 0500 | AA NI —1 VC-12185 2
B-37 154 0233 001 77 v FHY 2
B-38 154 0234 000 FHhIy 1
B-39 (58 2226 000 YA KT 9F R0 2
B-40 143 2214 000 AbpNy Pray 2

~B ~




B. S 2ZwiarFrEFk




B.

NSRRIy aFTER

WL o— FEE B & 4 Bk {5
B-41 143 2220 000 AbyFYry THay 2
B-42 9SB 1250 000 AF—sLB—L  5/32" 36
B-43 M81 0221 000 YA K2 T oFE Rz 2
B-44 9BB 6205 000 R—N<T Yy #6205 2
B-45 9RR 5200 005 AF TV R52 g
B-46 908 2552 1208 | A /L —IL TCX6-255212 4
B-47 9RC 0400 680 0—5—F =2 #40X680 1
B-48 M40 5145 000 =1 PR 1
B-49 9BB 6205 000 T YT #6205 2
B-50 M40 0145 000 F 5 A FHF 2 A
B-51 9RR 5200 005 AFw Y7 RB2 2
B-52 90S 2552 1208 | A A L —ib TCX6-255212 2
B-53 111 0149 000 R e 2




C. \2FIVERE




C. N\ FIVBER&

BT 21— RIS wHos A e {5
C-1 M406141000 | -~ Fadoes 1
C-2 M40 6147 001 Fxe—7 1
c-3 9BT 0702 003 ANk M7 % 200 3
C-4 9SW 0700003 | /3P AR M7 3
C5 9NT 0700 003 R M7 3
C-6 9RS 4200 005 AFoFY) T 542 1
o7 9MA 0155000 | BV AL aFaf~v—" 1
C-8 9BT 1212 503 Rk M12 X 1250 1
C-9 9SW 1200003 | /S xR M12 1
C-10 ONT 1200008 |+ b M12 1
c-1 M81 4611 005 e Ry COMP 1
C-12 124 0618 000 o~ Rb=XY 2
C-13 M81 0619 000 Y Ty 1
C-14 8MA 0007 000 7T FLA—Fa UL v—7P 1
C-15 M812215000 | ¥ FAFaotEf<w—2 1
C-16 9CV 1500 001 Dy 7 AL 4
C-17 M81 2220 001 Vi 1
C-18 M81 2221001 PiEVIPAN 1
C-19 9NL 1000 013 a2y yF v b M10 % P1.25 1
C-20 103 1012 000 b 7% i
21 9BH 1003083 | 8T ALk M10 % 306 1
Cc-22 9FW 1000 003 b 7FH =R M10 1
023 9NF 1000 003 7Py b MI0 1
C-24 M81 0613 006 P D8 g YU p— 1
C-25 M40 0422000 | 7> FvasA B 1
C-26 M40 0429 000 2T A R 1
C-27 E13 6000010 75 oFLsi—  ASSY 1
C-28 M812231000 | v KiLdiss— 1
C-29 9BK 0601 063 B SRR YRR M6X100 2
C-30 M810636 000 | ~AFTF~—27 170 1
C-31 M812229000 | /"> Fipi—e—s L 1
C-32 M812230000 | > Fadisi—e—27 R 1
C-33 M86 0717 000 T v B g ve—s 1
C-34 8MA 0009 000 T adyvisg re—4 1
C-35 M40 3652 000 S AN 1
C-36 149 6100 000 A e rFa Da—R 1
g 143 3103 000 FAIRE i
C-38 8MA 0027000 | 74 SR¥ ~v—7 1
C-39 M831013000 | VA Ko7 vF=—2 2
C-40 M81 2222 001 Fa L boi— 1

~10 ~




C. /\ FIVEAR




C. N2FIVER

RHES a— N Mo & B {ifi#
C-41 124 0831 000 1077V o7 (7Hh) 1
C-42 103 1012 000 L IH¥HF ¢ 18% ¢ 10.5Xt1.6 1
C-43 9ST 0201 503 LI i $ 2% 150 1
C-44 8MA 0026 000 Lt ppdieg—id 1
C-45 M814816000 | TviavUAv— 1
C-46 106 0496 002 R e g A ) P 1
C-47 9NT 0600003 | 7> b M6 1
C-48 9NP 0600043 | F A ard vk M6 1
C-49 156 0911 000 FxPLrs— 1
C-50 124 0831 000 107V w7 (7Hh) 2
C-51 9BT 0601075 ByRITTYXRFARY M6X100 1
C-52 9NL 0600 003 =84 B M6 1
C-53 M405161000 | FxPHiA K 1
C-54 M40 5162 000 B—F Yot YF Y =—s i
C-55 9BT 1002 003 A b M10 X200 1
C-56 9SW 1000003 | /SfHH xR M10 1
C-57 9FW 1000 003 b PN M10 1
C-58 9NT 1000 003 Fw b M10 1
C-59 M40 5163 002 F o Plri— (m—& ) 1
C-60 106 0125 000 aZsayh—A7) I 1
C-61 9BT 0604 003 VI M6 X 400 1
C-62 M67 0915 000 E 7HH xR 1
C-63 9SW 0600003 | /SR AH R M6 1
C-64 ONT 0600003 | F = b M6 1
C-65 9BT 0601 803 Ak M6 < 180 1
C-66 ONT 0600003 | F v b M6 1
C-67 M814955000 | A1y kLA — 1
C-68 M81 4954 001 YA P27 9 F DA F— 2
C-69 MO8 1016 000 B THTE Y 2
C-70 9ST 0161 503 711 Py 616X 150 2
Rl h] E24 6056 000 ayELs3—  ASSY 1
G2 K14 6054 000 75 9FLri—  ASSY 1
C-73 M814612000 | /~» Knwsr  J1v 1

~ 12 ~







D.T29

N bAHN—BEF

RS a— REE ;oS 4 W e {5
D-1 156 0411 000 TV T L—h 1
D-2 9BT 0806 003 VARVIE M8 X600 3
D- 3 9FW 0800003 | 7F»¥7 vk M8 3
D-4 8MA3116000 | H¥ o FFN=w—y i
D-5 156 1021 000 vrA MRNUTEA 1
D-6 M40 5214 001 TS —Y— 1
D-7 M40 3852 000 RoFS—Y— 1
D-8 9VA 0390 003 V~u b LA-39 AL 2 SA THA]
D-9 9BT 0801 603 VIR M8 160 1
D-10 9KY 0503 500 F— 5% 5% 350 1
D-11 M40 3853 001 FiaryT—5hA  COMP 1
D-12 M36 2838 000 FA VI HIT g T RUVA% 1
D-13 M66 0824 000 Fuisaran AW 1
D-14 9RS 1200 005 KFuFN g 512 1
D-15 W405B05X035 | F— 1
D-16 W207H08 T sy g 1
D-17 B0OS0A08X016 | /L b 1
D-18 127 5415 000 R I A= T, F 1
D-19 9SW 0600003 | /3R AR M6 2
D-20 9NT 0600 003 F ok M6 2
D-21 9FW 0600 003 v YA R M6 2
D-22 9BK 0801293 E AR X4 b M8X 120 /|
D-23 S57 0628 000 FagaSe—y 1
D-24 156 0811 000 YL NI FHIR— AT — 1
D-25 M400805000 | ~vL kA= W 1
D-26 M400806 000 | ~L bAH= ¥ 1
D-27 G57 1562 000 HF— 1
D-28 9BK 0802 503 NAFYEFRL L M8X250 2
D-29 9BT 0801 603 Ak M8 X 160 2
D-30 9SW 0800 003 | 73xx¥Hx M8 2
D-31 127 5416 000 ~YL hBi—  COMP 1
D-32 M40 3857000 | ~UL phR—e—7 1
D-33 M26 0833 000 Fr 1
D-34 GB1811L.N376 SR GB181LN-376 1
D-35 9BT 0805 003 VAR M8 x 500 4
D-36 9FW 0800 003 b 7N R M8 8
D-37 9NF 0800 003 75y b M8 4
D-38 8MA 0464 000 7y h—g 1
D-39 MB88 1321 000 Ty hls— 1
D-40 9CR 0601 203 FFRIRY M6 % 120

s 4l w0







D.TVYY XN)VbhHN—BE

RHES a— FES AT S E5e s fifi &
D-41 9CR 0601 253 bR YR FRaRry M6X120 2
D-42 122 1630 000 Ty H N 1
D-43 122 1631 000 b RS e o = € 4 1
D-44 9GN 0600000 | 7Y A= 7L 1
D-45 9FW 0600003 | & F7¥#H> M6 1
D-46 8MA 0518000 | i/ s—F o Fyv r~e—2 1

~ 16 ~




E. Eig-7 I ER

~ T~



E. Eig-7IA7MER

R a— N f:ﬂS i é’ i d;k{l: {Jih &

E-1 M40 0510 002 HANFa2—F 2

E-2 M81 1116 000 SR 9

E-3 9RP 1023 003 REYV 2

[ 4 M&1 1105 001 Y44 4007 Tv¥ R | R JL5.24
35 MS&1 1106 001 YA 4007 Tvi L ]

15- G M58 1112 000 IRA IR A % 4.00-7 IR =
E-7 9BT 0801 603 ALk M8 x 160 8

E-8 9BT 0802 003 RVIPA N M8 %< 200 8

E-9 9SW 0800 003 2RRAFHT R M8 16

E-10 9NT 0800 003 +F vk M8 16

E-11 M26 1111 000 D 2

E-12 9RP 1023 003 Rt ¢

E-13 M81 1124 000 A/ 3.00D7A R 2

E-14 M81 1125 000 A7 3.00D-7A L i

E-15 M66 1212 000 NRFGUATA | (Tra D) 3

E-16 M66 1214 001 e = G = i 1o 1

E-17 M66 1213 000 A A IR 1

E-18 106 0329 000 AT 1

E-19 M66 1215 000 A fAYE Ty R 1

—~ g ~




E. Eig-7 I/ ER

RS a— P Wodh & R gy {75
E-1 M40 0510 002 RANF2—F 2
E-2 M81 1116 000 RS 2
E-3 9RP 1023 003 R ¥ 2
E-4 M81 1103 002 Z2A4% 3507 Tv¥ R 1
E-5 M81 1104 002 A% 3507 Ty L 1
E-6 M81 1118 000 ARA NARA 2 3.50-7 AR A
E-4 156 1102 000 Z#A4% 13X5.00-6 ASSY R 1 PR 2946 HAFEL Y
E- 5 156 1101 000 Z2A4% 13X5006 ASSY L 1 (E-4,5 (TR A VR AET?)
E-6 156 1111 000 A VB A 2 13X 5.00-6 IR =
E-7 9BT 0801 603 sk M8 x 160 8
E-8 9BT 0802 003 ALk M8 X 200 8
E-9 9SW 0800003 | "R FH=R M8 16
E-10 9NT 0800 003 F v b M8 16
E-11 M26 1111 000 L ST/ o 2
E-12 9RP 1023 003 Ry 2
E-13 M81 1124 000 A0 3.00D7TA R 2
E-14 MS81 1125 000 AAs 300D7B L 2
E-13 €25 1350 0061 A% 13X5006 R 1 Rk 2946 HAEREL D
E-14 C2513500060 | #1 ¥ 13X5.006 L 1
E-15 M66 1212 000 WG AYTA b (73 D) 3
E-16 M66 1214 001 A F3I R R 1
E-17 M66 1213 000 DA b3 YL R 1
E-18 106 0329 000 ATV 1
E-19 M66 1215 000 JxA f ATy b 1

~ 18 ~




E. Eiﬁ*ﬁlﬁ'bﬁﬁfﬁ

R a— k&S oW 4 W Bkt i
E-1 M400510002 | A NT 2—7 2
E-2 MS81 1116 000 XTI 2
E-3 9RP 1023003 | RtV 2
E-4 M81 1103 002 ZA%¥ 38507 Tw»¥ R 1
E-5 M8&1 1104 002 #4¥ 8507 Twv¥ L 1
E-6 M81 1118000 | AsA LR A 2
H-7 9BT 0801603 | A b M8 X 160 8
E-8 9BT 0802003 | A b M8 X 200 8
E-9 9SW 0800 003 | 2 3pH A% M8 16
E-10 9NT 0800003 | > I M8 16
E-11 M26 1111 000 S DU 2
E-12 9RP 1023003 | R £ 2
E-13 M81 1124000 | A/ 3.00D-7A R 2
E-14 M81 1125000 | &1 3.00D-7B L 2

E-15 M66 1212000 | SFADIA kb (a3 D) 3
E-16 M66 1214 001 e g =Ry IR 1
E-17 M66 1213 000 A b A PYHFR 1
E-18 106 0329 000 AT 1
E-19 M66 1215 000 I AV E Ty b 1




F. (JTEmBEfR




F. {(JEmBIfR

AHEEE a— REE Wosh & gy {ii?
P-1 M40 4411 000 Ry ALUF  13X17 1
F-2 9TL 1201 400 - F 12X 14 1
F-3 9TL 1701 900 AsF 17%19 1
F-4 156 9002 000 RUF MU TYHAEI AL Vg 1
F-5 M26 1111 000 XTI 92
F-6 9RP 1023003 | REV g
F-7 8MA 0006 000 |~V hFabfF o f~v— 1
F-8 8MA 3913000 | ¥ v o¥r~—v 1
F-9 8MA 0154 000 B—F V—Fafw—2 1
F-10 111 1530 001 av s ru 1
F-11 =D ABEE 1

~ 20 ~




